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9T — 1/ PART — |
I fer g e / CHILD DEVELOPMENT AND PEDAGOGY
fraer : frfafad g9t & SR 39 & T @9d SR fased ghm

Direction : Answer the following questions by selecting the most appropriate option.

[3/A]

1.

qMIs @9 ¥ dfad s & oo e
e 1 {378 IugeRt =il 7

1) eFveie farem

2) faferse o

3) HHEA farEm

4) e frem

frfofag & @ #9-a1 Fo Req

& T-gEe fgem Rea @

%Fvl’ﬁﬁ fPNEen & dE9g ¥ gal
?

1) SE-UEaM T §NICTh HAl-9HIeTh
75 &l

2) ITR-TEaM T FOTHD Tol-SHIoTD
7& ol

3) IE-Yeda TH dqeed Hel-HMIT
RS

4) E-YEAN His HA-GHITE TBY
& & B

T o s ¥ efaiad J 9

He-H v 72 3d e B ?

1) SEr fHas

2) offq forstEr

3) U= FHUAN

4) T foER

frefofag & @ @9-d  fQwar

TR & b WX EHHD

U9 7 STl € °

1) HEMTE &9 8§ Wi Faer

2) wiEd ArIsTE iR T

3) WIS R @l e

4) | YAiEl & faeme

[ Level-3/1321]

1.

Which type of education would be
appropriate for socially deprived
children ?

1) Informal education

2) Special education

3) Inclusive education

4) Religious education

Which of the following statement is

correct regarding adolescence,

under Erikson's Psycho-social

development theory ?

1) Ego-identity is a
psycho-social aspect.

positive

2) Ego-identity is a negative
psycho-social aspect.

3) Ego-identity is a neutral
psycho-social aspect.

4) Ego-identity is not just a
psycho-social aspect.

Which of the following characteristic
is not seen in a creative child ?

1) Divergent thinking

2) Extreme curiosity

3) High imaginations

4) Conventional thoughts

Which of the following characteristics
does not have a positive effect on the
process of socialization ?
1) Socially approved behaviour
2) Playing approved social roles
3) Development of social attitude
4) Development of social
prejudices

P.T.O.



[4/A]

5. AFNCEhl H  CTHIOY  fqmE &

GeRiq &y ® ¢

1) gwwﬁawﬁwmw

2) ST Wad @9 9 F|M Tl B
el B

3) = fhdl S @i & Mesw #
T HT Gl B

4) =1 Rl S @l & MeeW #
ff 1 & HX gHT B

6. R 3 fwemdl ofa Syl e
& F U B, A IHH BRI A
gmmwwqﬁmﬁmw

?
1) THARHSD 2) feFTEs
3) SWRIHE  4) ITHS

7. “OHEIY %99 [RAFT @ d® 8
difig &l 8, sfed o ot el oft
e 1 SfewpR F & ot B

fen § TS @ g8 ofd fhes
)T e fp T B 7
1) THo %o Tho 2005
2) THo Hlo éo o do

3) I
4) g%
8. gha wd b ¥ i WR & Rady
A g ?
(@) X & MR § qiRaad
(b) SRR & U H qReA
(c) YU Tl &l foeiias
(d) A faQarett ®1 AR
F&l FT B AT BN :

7 .

1) (@, () T (c)

2) (a), (b) T (9)

3) (a),(c) W (d)

4) (a), (d), (c) W (d)

[ Level-3/1321]

8.

Vygotsky's 'Zone of Proximal

Development' refers to :

1) What the child can do
independently

2) What the child can't do
independently

3) What the child can do with
guidance of knowledgeable

person
4) What the child can't do even
under guidance of

knowledgeable person

If a learner does not achieved the
expected performance, what type
of testing is done to find out the
reason ?

1) Formative
3) Remedial

2) Diagnostic
4) Summative

"Inclusion is not confined to the
disabled but it also mean no
exclusion of any child."

This meaning of inclusion in
education has been clarified by :

1) NCF 2005
2) NCERT
3) UNESCO
4) UNICEF

Which type of changes occur in
growth and development ?

(a) Change in body size

(b) Change in body proportion
(c) Disappearance of old features
(d) Acquisition of new features
Choose the correct code :

Code :

1) (@), ®) & (c)

2) (), (D) & (d)

3) (@, () & (d)

4) (@, ®), (©) & (9



9. g & § dF-a1 F AREROT

& TR WX THRIES I W 787

&l ?

1) STRERET §E" & FEer &l &
HA ©

2) ARERET HEd @ FEER @
Y fRem ye™ #r ?

3) JfERer e & FaeR H
RIEDEIRSIGI

4) APPRET HEW @ FEAER @
TIHE S 8

10. Hga & A OHE @ &

ST Afdhdl # STaeett & 3@

&R 9 gAfd i

At @ ot Afcrear
H &R

(a) T8 Fagieas dag I

@ ® (¢ 9
I 1

2) I oI II I
3) I I I II
4) 1II I II III

11. 99 JARHhal e B @ i
5B 1 IR & AU AW B dE
ST &, O 39 & © ¢

[ Level-3/1321]

[5/A]

9. Which of the following statements
does not explain the positive
impact of motivation on learning ?
1) Motivation impairs learning
behaviour

2) Motivation provide definite
direction to learning behaviour

3) Motivation energizes learning
behaviour

4) Motivation makes learning
behaviour selective

10. Match the stages of morality with

their level, under the Moral
Development theory of Kohlberg :

Stages of Morality Level of
Morality

(@) Good interpersonal I
relations

(b) Individualism and II
exchange

(c) Social contracts and 111
individual rights

(d) Universal principles
Choose the correct code :
Code :

@ @®) (o) (@
H I o m I
2) o Im I I
3 o m I 1
4) II I IIT III

11. When the learner learns a task

automatically, without any desire
or purpose, then it is called :

1) Massed learning

2) Whole learning

3) Partlearning

4) Incidental learning

P.T.O.



[6/A]

12.

13.

14.

frefafag & @ ®9-@1 &9 SIS
RO & Gey § T J& ' ?

1) 3 gdifs & ¥
2) 3 TG B &
3) I ifad w©X & oL oTasa® B &

4) 3 KT F TERAfT q HEEG el
R

Frefafed & & d9-@ e &
AR A eI Hl AR & ?

(a) foied

(b) AifEs®

(c) FEEH

(d) TR

7&] T H AT BT :
1) (@), (b) W (d)

2) (a), (b) W (c)

3) (a), (c) T (d)

4) (a), (b), (c) T (d)

Freifafad & @ @9-a1 %99 &
qElt & ded 7 we 78 8 7

1) Toaeiel & 99 TN J0e9 Th
ferares gdieror B

2) 9ifssd U0 Jafede STl
HHeH T TR & & T ol

3) TR A MwEE gleer Tel
H G|

4) gniEs gl H gRE # A
fet wd ol BT & R

[ Level-3/1321]

12.

13.

14.

Which of the following statement is
not true regarding biological
motives ?

1) They are universal
2) They are inborn
3) They are essential to survival

4) They are not related with
homeostatis in the individual

Which of the following
examinations are the basis of
continuous and comprehensive
evaluation ?

(a) Written

(b) Oral

(c) Behavioural

(d) Practical

Choose the correct code :
Code :

1) (@), ®) & (d)

2) (a), (d) & (c)

3) (a), (c) & (d)

4) (a), (), (c) & (d)

Which of the following statement is
not correct in reference to
intelligence tests ?

1) Alexander's Pass along test is a
performance test.

2) Verbal test can be either
individual or group.

3) Illiterate people cannot do
performance test.

4) In non-verbal tests intelligence
is measured through pictures
and figures.



15.

16.

11.

18.

Frfafad & @ SiF-a1 g9 Fewe &
Promar gfs Rrgid & o=rmia gfe &
aa?w%w%ﬁaﬁa@r
T 87

a3 o« ™
1) 8 I
2) s gfchar
3) T wishar
4) Hey EEREES!

frfafag & @ 9-@ S Biwd
;ﬁmg&ﬁwaﬁw%@waﬁ
?

1) URF HEN & oEex

2) UHd [T A5R

3) HId Yok
4) g e i

g & IFIAR, TeOHE HER
HIF-8l AT Tk 787 § 7

1) STagMIH ihamd
2) TS URhad
3) IROTHE SR
4) HASHIS AT

ELCRUNCIIC | E S R R TS E L
HIER, 54 5 Al gAU & FaER
B IGHT 3R AR qe! FaeR g
QA B, O 39 M Fed B °

1) STt
2) SIH-U&T

3) WISk
4) TEA e

[ Level-3/1321]

15.

16.

11.

18.

[7/A]

Which of the following pair is not
correct regarding elements of
intelligence and their dimension,
under the Three Dimensional
Intelligence theory of Guilford ?

Elements of Dimension
Intelligence

1) Unit Product

2) Cognition Operation
3) Evaluation Operation
4) Relations Content

Which one of the following is not a
key feature of child centred
learning approach ?

1) Meaningful
opportunities

learning

2) Single learning pathway
3) Continuous assessment

4) Accessible learning settings

According to Bandura, which is not
the interrelated processes of
observational learning ?

1) Attentional Processes

2) Retentional Processes

3) Motivational Processes
4) Conjunctional Processes

According to Bandura's Social
Learning theory, what is it called
when a person learns the same
behaviour by observing and
repeating the behaviour of others ?
1) Adaptation

2) Self-observation

3) Modeling

4) Efficacy expectation

P.T.O.



[8/A]

19.

20.

21.

22.

[ Level-

Tiq & BoA Ed & o
qehid ¥ PN-@  SU-IeH
afwfaa 78 © ?

1) Hel 9eh

2) WARTHS 9%

3) eI g

4) HF GUEV (31H) qTH

e AR FEEa W S
PINT B ARFE HI TAAT Bl 8 ¢
1) eagar 2) feenfter
3) fewmiferaar  4) feafHReEn

oD I B | 1 A e M e et e

urEl ofaeenet @@ W H T

FifoTT

1) gEEen — i ggemEeEr -
AR - EEeEr -
SEEIT-2CIO)|

2) TEEEl — FHEEel — [T
TR —  SeArEdEer —

BREIEL]

3) gEEEl — TEERT — [
TONERl - SEEEe] —
ST s

4) AT - EEE
qEEe — SEAEgEE — T
e

YoqE & e oFEed oM
RSl & AR @lias T STsie
SEITH & TERJNHT H HI-A1 I
7 HiEw B G Hiad S ?

1) YHBITD 2) fdfsa
3) Gad 4) T
3/1321]

19.

20.

21.

22.

Which sub-component is not included
in componential intelligence under
the Sternberg Triarchic Theory ?

1) Meta component

2) Experimental component

3) Performance component

4) Knowledge acquisition component

A learning disability that affects the
acquisition of arithmetical skill is :
1) Dyscalculia 2) Dysgraphia
3) Dyslexia 4) Dysmagnisia
Choose the correct sequence of
the five stages of Freud's Psycho-
sexual development theory :

1) Oral stage — Phallic stage —
Latency stage — Anal stage —
Genital stage

2) Anal stage — Latency stage —
Phallic stage — Genital stage
— Oral stage

3) Oral stage — Anal stage —
Phallic stage — Latency stage
— Genital stage

4) Latency stage — Anal stage —
Oral stage — Genital stage —
Phallic stage

According to Pavlov's Classical
Conditioning theory of learning,
which temporal sequence
presentation of natural and
conditioned stimuli will most affect
learning ?

1) Simultaneous 2) Delay

3) Trace 4) Backward



23.

24.

25.

26.

s & G o Risia &
fpe  orgerm H fEfa  aen
Waﬁwﬁﬁaéw
1) Gag-TH

2) Ya-Hisharch

3) Yai-Hfsharch

4) NuenRe-HikarEs

yfaeamelt faenfEt & oo e=feRea
T § B9-G ARH Fawer 7T @l S
T ?

1) @ qoiae & & STaEs

2) @
3) SUERIAS &
4) T FEHA

frfafag & & ®H-a1 qaEsh e
1 up fosiq 7@ T 7

1) TRl & i

2) T & fsia

3) fafaaar &1 Sis9 79 @1 Risia
4) fmm & IR &1 Risid

frfafed & & @HM-a1 ader JafwT®
Rrraiell & orgaR Reer & gwedq
7T &l ?

1) foeniEl & s=1 998

2) JafRTH AR

3) UIGHHH STIH

4) faaRial @ avare &1 a9

[ Level-3/1321]

23.

24.

25.

26.

[9/A]

In which stage of Piaget's Cognitive

Development theory does the

ability of abstract thinking and
generalization develop ?

1) Sensory motor
2) Pre-operational
3) Concrete-operational

4) Formal operational

Which of the following educational
arrangements shouldn't be made
for talented students ?

1) Opportunities for independent
project work

2) Acceleration
3) Remedial teaching

4) Enrichment program

Which one of the following is not a
principle of inclusive education ?

1) Principle of segregation
2) Principle of cooperation
3) Principle of celebrating diversity

4) Principle of right to education

Which of the following way does
not support the teaching according
to individual differences ?

1) Large group of students
2) Individualized instruction
3) Curriculum adaptation

4) Knowledge of student's abilities

P.T.O.



[10/A]

21.

28.

29.

30.

fofite  STEsgRdel 9@ S= @

AEFEN B @ FE H Jem

eI & g T8 S 7

1) {1 9ewE & faereg o gasr &

2) g9 grEr gl gee S

3) I Ml SMETH B TEAMI
U JeAEN § Sl &

4) IR HEWH FEEd Yl EH
T

fr=ifeifeg & @ f-a1 o f9wg &
g § 98l 78 B ?

1) o™ URUFEar Ud SR @
3@ B

2) YRR fed &l g | aE @6l
foepre a1fyes iR 2 B

3) fompa R @ W #t R & o
e 2

4) [TFE =G 99 ¥ BR & X
e 2B

qurash frem # B feia ke
B Sfoded fhar @ ?

1) By, W wd Rwnas
2) X g fereeht

3) HEHAT T BAed

4) odel, SfeE T g

d gRugEar TN A & I8
g fpes & & T R ?

2) e
4) B

1) 9 Sl
3) AR

21.

28.

29,

30.

Which is not a role of educational

institutions in addressing the needs

of children with special need ?

1) Admission to school without
discrimination

2) Provide accessible
infrastructural facilities

3) Identify their special needs

and exclude them from
mainstreaming

4) Provide necessary support
services

Which of the following statement is

not correct in context of

development ?

1) Development is the product of
maturation and learning.

2) Later development is more
critical than early development.

3) Development proceeds from
head to foot.

4) Development proceeds from

central axis to extremities.

The three dimensional model of
the inclusive education
propounded by whom ?

1) Criffith, Cooper and Ringlaben
2) Gartuer and Lipsky

3) Kauffman and Hallahan

4) Levenski, Davis and Hooper

"Socialization means attaining of
maturity in social relationships."
This definition of socialization is
given by whom ?

1) John Dewey 2) Garret

3) Sorenson  4) Hurlock

[ Level-3/1321]
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[11/A]

31.

32.

33.

34.

fqQwer & deg & dHi-ar w@é gatad

& T 7

1) R - | 9 i &k

2) Ufedd - fA9uer @ SavEe

3) UREH - JorErE Qe

4) Y - G § WG HEaEs
El

g foecq # =-g™ &1 TE 7Y AT
78 5 ?

1) SEf - @, 9 - e

2) WY - g, 7Y - gEA

3) IR - T[l, AT - Sl
4) THI - 4, g - |

HI-91 H @ 7 © 7
1) g - d 9=
2) HE® - TgHd 9=
3) Ra=dl - I =
4) VA - [k o=

frefafeg & @ 59 fae &1 9=
wfy-faees # e @ T ® 7

1) FUEE = FI + o6

2) I = aar + ST

3) AMHIN = T b + 0

4) TgH = Y + A

[ Level-3/1321]

35.

36.

31.

38.

fp faheq & WHE W SR
THE H1 ISET 78 & °

1) S, fuEe
2) dHsard, RS
3) YA, HarEd
4) UERR, qgqufa

frg faeeq &1 = ‘o ITEd A
fffa 7&f = 7

1) M

2) i

3) I

4) IFER

1 # 9 e 9T @ 9= foeee
gt | fafa § °
1) Uedtad, siferEr
2) ST, FHHEL
3) Regd@R, ST

4) R, TNl

EaE 9|l & g9g ¥ -
feeq ofgfaT @ °

1) I=AT - AR, rgdiy], wedd
2) &S - G, JuHl, A&

3) T=A - TNEN, JAge, QU
4) T - FERAICH], AT, YR

P.T.O.



[12/A]

39.

40.

41.

42.

A 3fte & e faeey & a9t 9=
g ?

1) T, @R

2) TG, SEY

3) e, stfewn

4) RfE, T

‘TRTHT Tl ¥ ARG H SR S’
ST ad § @ifed I HA: ©

1) SHiFqdres HsM qT Sicaraeh G5l
2) Sliadres G5 qo1 Agars dsi
3) Aiddrash Gsl T Afkiars ds
4) HEqED G AT Aldreh G5

Fr=1 & & e qerer & ord ' 78

g7

1) T W X T BN - SR
BTl

2) Y F T TX A - foFT T

& Pz T U HT A
3) TH gE UM UMT - THdl &)
LIRSS

4) HM ¥ ) a1 - B @
CEREREI

fpar & Gey § ofgfad faeed g ¢

1) & & AR W Bba & ‘i
wd ‘oTHE & 9T AW S o

2) gﬂﬁ PRe | DE e R e GG
[

3) T g7 4 & forgam 1’ I
qrR # IR AT SgE & o

4) ‘SiEEr, WA TE AT
AT BRa % SRR B

43.

44.

45.

M & e ¥ PN-91 B FET

g ?

1) T % MR W 9999 & B8
AT

2) ‘B JA FY  ACREIIEE
M I

3) ‘TEVEEE HAAH & IR e AW
ST &l

4) @ G4 @ g & 9 Al
[ B Bl aEg B A A R
39 FerEaras 9dm ®ed 2

frg faey 4 Rodaeis 3@ ommT
T ?

1) T - Jaad

2) T - HENE

3) & - &g

4) M - WER

THT ® MU THA 9% P Gey H

ST T T
1) S & H g | IFRE T & -
31ag

2) fored #ig = 7 & - vy
3) HYE H W dwril AT - @

4) S HoE WM P fow SRk -
R

[ Level-3/1321]



Si3sft / ENGLISH
Direction : Answer the following questions by selecting the most appropriate option.

[13/A]

46.

41.

48.

49.

Fill in the blank with the correct
option :

Note it down ........... you should
forget it.
1) that 2) Dbecause of

3) till 4) lest

Choose the correct option that
gives the meaning of the given
idiom :
Spill the beans
1) increase work
2) face a greatloss
3) toleak asecret
4) segregate

Fill in the blank with the correct
option :

The Pak army turned hostile .........
ISIS.
1) to
3) at

2) for
4) with

Choose the correct passive of the
given sentence :

Please give me some more time.

1) Some more time might please
be given to me.

2) Some more time may please
be given to me.

3) Some more time could please
be given to him.

4) Some more time should please
be given to him.

[ Level-3/1321]

50.

51.

52.

Which of the following options
express the correct meaning of the
sentence given below ?

No sooner did I reach the college
than the bell rang.

1) The sooner I reached the
college the earlier the bell
rings.

2) I reached the college and the
bell was rang after.

3) Although I reached the college
the bell began to ring.

4) As soon as I reached the
college, the bell rang.

Change the narration :

He said, "What a charming sight !"

1) He exclaimed with joy that it
was a very charming sight.

2) He exclaimed with joy that
what a charming sight it is !

3) He told with joy that that is a
charming sight.

4) He said to me what a charming
sight it is !

Fill in the blank with the correct
form of the verb :

a lot of calls today.
1) had have
2) hashad
3) have had
4) had had
P.T.O.



[14/A]

53.

54.

55.

56.

Which of the following sentences is

the correct option to express a

probable condition ?

1) If I were a bird, I would fly to
you.

2) If you touch a live wire, you
will get a shock.

3) If you will read this book, you
will learn grammar.

4) IfI had reached in time, I could
have saved her.

Choose the part of the sentence
that is grammatically incorrect :

He thought / he will be able to do /

A B

whatever he wanted / with his job.
C D

1) A 2) B

3) C 4) D

Choose the part of the sentence
that is grammatically incorrect :

The Jews were / most reluctant /

A B
to contribute / in the Palestinian
cause.
C D
1) A 2) B
3) C 4) D

The word 'slither' means :
1) lick
3) hinder

2) venomous
4) slide

51.

58.

59.

60.

Fill in the blank with the correct
form of verb :

WhenIlast ............. her, she was
deeply involved in debt.

1) have met 2) met

3) has met 4) did met

Fill in the blank with the correct
option :

How did the thief ...... the padlock.
1) open

2) opened

3) had opened

4) had been opening

Fill in the blank with the correct
'Modal Auxiliary' :

............. you mind lending me
your pen ? (Request)

1) Should 2) Ought

3) Would 4) Must

Arrange the following jumbled
options in the correct order and
then choose the correct option :

(A) is heartening
(B) is going abroad
(C) the news

(D) that she

1) C,D,B,A

2) D,A,C,B

3) D,C,B,A

4) D,C,A,B

[ Level-3/1321]



HET- 1l / PART = 1lI
qH AHY / GENERAL STUDIES

[15/A]

RS QdT, diihe STl el 9T S U9 IREI / QUANTITATIVE APTITUDE,

REASONING ABILITY AND G.K. & AWARENESS

fraer : fFefafad gl & SR 3 & e @98 S faee g

Direction : Answer the following questions by selecting the most appropriate option.

6l. A A o R & a0 W I fRam
AR AU Pe F@E @9l ©§, ol

SHS 19 B H R B -
1) IR-gd 2) qiR=m
3) T 4) TER-UREH

62. T G 20 fhHl G & €10 & &
4 u% g d qun S gl W O &
froda Rer & 2 g9 § @@ @l §,

@ AT ST H A9 B A R
1) 10 fHt/"ver
2) 12 fH1/gue
3) 13 fHI/aver
4) 15 feHt/guer

63. 15 axdl & W F 7 A f=i

64. TH Fe ¥ 35 fqmiiEt #, A &1 we
9 9 7d W @ B & WM IW q
oFf WM W & T C & &N 37 Nl
H I AT HE, A C & @W A H

H-TT B ?
1) odl 2) 104
3) 1lda 4) 12df

[ Level-3/1321]

61.

62.

63.

64.

If A stands on his head with his
face towards North, in which
direction will his left hand point ?
1) North-East 2) West

3) East 4) North-West

A boat goes 20 km downstream in
one hour and the same distance
upstream in two hours. The speed
of the boat in still water is :

1) 10km/h

2) 12km/h

3) 13km/h

4) 15km/h

In a group of 15 people, 7 read
Hindi, 8 read English, while 3 of
them read none of these two. How
many of them read Hindi and
English both ?

1) O 2) 3

3) 4 4) 5

In a class of 35 students, A is
placed 7th from the bottom
whereas B is placed 9th from the
top and C is placed exactly
between these two. What is A's
position from C ?

1) 9th 2) 10th

3) llth 4) 12th

P.T.O.
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65.

66.

61.

68.

69.

10.

Teh %= e A § 'CEG' &l ‘TSR’
del 'FHJ' &l 'QPO' foren smam &, &
T g9 9w " OIKM' @& fen
ST

1) NOP
3) NMK

e EAML @ fhaq a9 910
ST 9 B 7

2) NOL
4) NML

1) 1 2) 2
3) 3 4) 4

uh Frfd sggst 4 o= &T o
& BT H® 7:2 8, @ 9
TS A TSl dH WA B

1) 7 2) 8

3) 9 4) 11

fr=ifeiied dear @l & T 9
SId I
2,3, 10, 15, 26, ?
1) 33 2) 34
3) 35 4) 36

T A ST UF o R a8 gUe H,
T B T 31 0% P I 6 g H{
T o HhaT 21 IR QST A B T
Y 2 g9¢ % o0 Eie & IR A9
A FH T X &A1 C, q@ 99 B N
ST ¥ e AT T ?

1) 292§ 2) 2% gUe H

3) 3 g H 4) 3% gue §

A fret ffvea Ye & 38 « 15 = 32,
62 % 91 = 7 QT 74 » 81 = 29 &, I
SH YA H 47433 M AA B ¢

1) 40 2) 41

3) 38 4) 53

[ Level-3/1321]

65.

66.

61.

68.

69.

10.

In a certain code language 'CEG' is
written as "TSR' and 'FHJ' is written
as 'QPO!', then in the same code
language 'IKM' is written as :

1) NOP 2) NOL

3) NMK 4) NML

How many meaningful words can
be formed with the letter EAML ?
)1 2) 2

3) 8 4) 4

The ratio of an interior angle to the
exterior angle of a regular polygon
is 7 : 2. The number of sides of the

polygonis:
1) 7 2) 8
3) 9 4) 11

Find the next term of the following
number series :
2, 3,10, 15, 26, ?
1) 33 2) 34
3) 35 4) 36

Pipe A alone can fill a tank in 8
hours. Pipe B alone can fill it in 6
hours. If both the pipes are opened
and after 2 hours pipe A is closed,
then pipe B will fill the tank in :

1) Z2hours
3) 3hours

2) 2% hours
4) 3 hours

In a certain pattern, if 38 * 15 = 32,
62 * 91 = 7 and 74 * 81 = 29, then
in the same pattern the value of
47 « 33 is:
1) 40
3) 38

2) 41
4) 53



11.

12.

13.

14,

15.

16.

g% 17 fE=R, 2002 @ AqFER o,
o 22 RE=R, 2004 @ H=-d1 A
qr ?

1) aar
3) TWER

A BEUNERS
4) TSGR

ofy 1 SFET 9T 2

Z1A, X2D, V6G, T21], ?
1) R8TM 2) R8IN
3) R8SP 4) R88M

ger s @ %M ad o g
fr=fefeg aftmEl § $9-d9 39 aw
& T BT B 7

1) DJOTV 2) DJOSV

3) DJOSW 4) DIOSU

x-3&, y-3& T 4x+3y =12 &GN
it Brgst & awrrEa & B @
1) 2 &8 2) 2.5 3B

3) 3 e 4) 4 B

g8 999 Bl & Fa s, e
15463 ¥ Siig< WX 9T IFT%S 107 §

qofaan faieia & S ©
1) 52 2) 55
3) 71 4) 16

UMl ® g H fhE oTgu H TR
ST ST fob O 59 bl g e W
e T 20% 1 AH & 7

1) 1:5 2) 2:5
3) 3:5 4) 4:5

[ Level-3/1321]

11.

12.

13.

14.

15.

16.

[17/A]

If it was Saturday on 17th

December, 2002, what was the day
on 22nd December, 2004 ?

1) Sunday 2) Saturday
3) Monday 4) Tuesday

The next of the seriesis:
Z1A, X2D, V6G, T21], ?

1) R8TM 2) R8IN

3) R88P 4) R88M

In English alphabet, the number of
letters skipped in between
adjacent letters in the series is
decreased by one. Which of the
following series observes the rule ?
1) DJOTV 2) DJOSV

3) DJOSW 4) DIOSU

The radius of the circumcircle of
the triangle made by x-axis, y-axis
and 4x +3y =12 is:

1) 2unit 2) 2.5 unit

3) 3 unit 4) 4 unit

Find the least number which must
be added to 15463 so that the

resulting number is exactly
divisible by 107 :

1) 52 2) 55

3) 71 4) 16

What proportion of water must be
added to milk to gain 20% by
selling it at the cost price ?

1) 1:5 2) 2:5
3) 3:5 4) 4:5

P.T.O.



[18/A]

11.

18.

19.

80.

8l1.

u iEd R & 4% aifie ¥ W
2 99 % QT ThafE S Ud E)
& & I o

1) 52:51 2) 52:50
3) 51:50 4) 53:50
Zri?A,BeraTc%rzzi-E ®

2°3'5
U 7 Tl T T MR AN
fFam 4 W& ugaq A R STO OSh
50% el fdn A 9 & o= H Fu
21,600 BUY FH TN AT &, A W
o ¥ qBH e

1) 2,400 9 2) 3,600 BT
3) 4,000 59 4) 4,200 TII

Uh Al 20% Y 9 Uh & i
o B, AR I ARy W 12 vW
e § o=, af 39 10% H ArH
Bl 39 I&] H HT TA ©
1) 22 @ 2) 30 W
3) 36 W 4) 40 W

Ve Ve

a*+a” 1-a~
+
l-a 1++a
a

a2

1) 2)

a-1
a-1 2
3 2 g 2

a- l-a
Qfrerfees g g oTafad © ¢

1) e R
2) HEae o A

3) IR o d
4) YR Bt J

[ Level-3/1321]

11.

18.

19.

80.

8l1.

The ratio of compound interest and
simple interest on a certain sum at
the rate of 4% per annum for 2
yearsis:

1) 52:51
3) 51:50

2) 52:50
4) 53:50

If A, B and C enter into a
partnership with shares in the ratio

7,4.6 After

2°3'5
increase his share by 50%. If the
total profit at the end of one year
be Rs. 21,600, then B's share in the
profitis:

1) Rs. 2,400

3) Rs. 4,000

4 months, A

2) Rs. 3,600
4) Rs. 4,200

A man sold an article at a loss of
20%. If he sells the article for Rs. 12
more, he would have gained 10%.
The cost price of an article is :

1) Rs.22 2) Rs. 30
3) Rs.36 4) Rs. 40
Vo o Ve q1_ .Y
a_+a + 1-a is equal to :
l-a 1++/a
a a-1
I — 2) —
) a-1 ) 2
3 2 g 2
a- l1-a

Historical village Sugh is located
in :

1) Ambala district

2) Kurukshetra district

3) Yamunanagar district

4) Panchkula district



82.

83.

84.

85.

86.

e eREE 9 TR, 2023 H A
US[d &l B fhar ?

1) €Y faeE

2) ey Qs

3) I Rawrs

4) Tifed

g & Feffed Tsdel § |
P T & T SRR F ?

1) <t TR

2) 4 JIwR g S

3) i &t o= W

4) & gL e gearier

AERI W4 S Geg 9 g ©

1) <9 ¥
3) YT H

2) Parm ¥
4) ead H

Mar Sl GARE fhE W H A
S & 7

1) Hii® |
3) offead H

2) AMOY H
4) mEo §
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82.

83.

84.

85.

86.

[19/A]

Which Haryanvi conquered Mount
Elbrus in August, 2023 ?

1) Sandeep Bishnoi
2) Rohtash Bishnoi
3) Ajay Khichad

4) Mohit

Who among the following Governors
of Haryana was an ICS officer ?

1) Shri Dharma Vir

2) Shri Muzaffar Hussain Burney
3) Shri Hari Anand Barari

4) Shri Surjit Singh Sandhawalia

The evidence of Stupa of Mauryan

period is found at :

1) Topara 2) Bhiwani
3) Thanesar 4) Rohtak
Geeta  Jayanti Samaroh is

celebrated in the month of :
1) Kartik 2) Margshirsh

3) Ashvin 4) Shravana

Who is the Chief Commissioner of
Right to
Commission ?

1) ShriT. C. Gupta

2) Shri Vijay Vardhan
3) Shri Rajesh Khullar
4) Shri Vikas Gupta

Haryana Service

P.T.O.
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81. HY MemeEm & IR § Fefaieg 87. Read the following statements
HIE P TR : about Sadhu Nischal Das :
() & T % frsg 9 (i) He was a Dadu's disciple.
(i) R Kk FER 9 (ii) He cc')mpll.ed a b90k 'Vichar
T EaTa aﬁ, Y gaE & =7 F T zggar which is in form of
ialogue.
Choose the correct code :
yg?a@ I T HIOA 1) Only statement (i) is correct.
1) FAA HI @ S 2) Only statement (ii) is correct.
2) @aq HY (i) TEI B 38) Neither statement (i) nor
3) T A FAT (i) AR 7 & FH (i) statement (ii) are correct.
2| 4) Both the statements (i) and (i)
4) A F (i) AR (i) T T are correct.
88. eI ¥ RfGRT ST @5 EI'ETV ferq 88. In Haryana, where the Chinkara
g7 Breeding Centre is located ?
1) fieR 2) I 1) Pinjore 2) Panipat
3) =N 4) g 3) Jhajjar 4) Bhiwani

89. BfETm ¥ Wehrll W ud wH 89. When the Haryana State Co-

T 98 o 3 ©IT o9 E?e; ? operative Agriculture and Rural
Development Board Ltd. was
established ?

1) S, 1967 1) January, 1967

2) =, 1966 2) November, 1966

3) T, 1980 3) March, 1980

4) SE{l, 1996 4) January, 1996

90. BRI § WRAE gEA  SrEnfEn 90. Where in Haryana, the Indian

HEI el Rod & 7 Institute of Information Technology
is located ?

1) dHa 1) Sonipat

2) qHIud 2) Panipat

3) ST 3) Ambala

4) FHEA 4) Kurukshetra

[ Level-3/1321]



AT -1V / PART - IV

WEd / COMPUTER SCIENCE

[21/A]

e Frfeied gel % SR 39 & U @9l SR e g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

94.

95.

96.

STAMIN Fraid M| §
1) e Af-ated Jerma
2) oM e S

3) FRM A9 U

4) FARM ART<E T

Uoge AMYE & ST 9T b
q99c P TG B § A AT 8
S HJ HIA B

1) °H Hele

2) AR Fel™

3) TN HIIE

4) IUST HEINH

SUFERArell § e W B @
fere oty Sw # @ § -
1) 9 2) FT
3) wiH| 4) 3T

I Rl &I § HH Y B Th GR
I B B, A IH FIE Bl FHe

S R
1) RS 2) TSHIF
3) gBIes 4) TTGY

M FHS H SN TH A AUS
T U W e Ay B

HNfET H % e e S @
1) Drop 2) Alter
3) Update 4) Modify

HIF-HT Bl 39 U9 H I ol 8 [
e %1 SUERT BN @, Red @
FOT MR ZHH IUANT FEl X Hd
fpan St ?

1) TAfeeE 2) feeied

3) THeIM  4) WM

[ Level-3/1321]

91.

92.

93.

94.

95.

96.

Transmission control protocol is :

1) Collision sensitive protocol
2) Collision less property

3) Connection less protocol

4) Connection oriented protocol

The select operation is used to
choose a subset of tuples from a
relation that satisfies a .............. .

1) Check Condition
2) Selection Condition
3) Insertion Condition
4) Update Condition

To get information from users you
USE .ovvueeenne .
1) Tables
3) Forms

2) Queries
4) Data

If a class contains at least one pure
virtual function, it is called as .............
class.

1) Compiled 2) Abstract

3) Interpreted 4) Interface

This command is used to modify
attribute wvalues of one or more

selected tuples :
1) Drop 2) Alter
3) Update 4) Modify

Which phase answers the questions
of who will use the system, what the
system will do and where and when
it will be used ?

1) Analysis 2) Design

3) Implementation 4) Planning

P.T.O.



[22/A]

91.

98.

99.

100.

101.

102.

103.

Rasmlm e=y @ fe=it 3, wfdfme
BT AT cvneenennen. &

1) Keys types

2) Entity types

3) Condition types
4) Attribute types

@ @ g o g= A F 99 O e
BId A foreser TrRE @ @ g
%l TR & & B9 B B, © -

1) e U8 SfNa J9
2) YA wd Tk

3) s ofwell AN

4) B FEN

952, &I Al THIT I HioTT
1) 1670; 2) 1674
3) 1607, 4) 1660;

e # U €

1) =geuad 2) FWgeE

3) HIEERTSA 4) FEiedd
WEN Ted P Th g Sl SagHT @l
T faivanetl #1 au #Xar §, ® ¢
1) 39 U9 2) wEd e

3) <&§d 4) T

JfFed  HEA 127.54; & Sfumd
I HI SIS

1) 78.6875,, 2) 48.6875,

3) 87.6875,, 4) 67.6875

4) UTRAHIM TiFeaa

[ Level-3/1321]

91.

98.

99.

100.

101.

102.

103.

Degree of relationship type is the
number of participating .............. .

1) Keys types

2) Entity types

3) Condition types

4) Attribute types

Fast and small memory between
CPU and main memory whose
access time is closer to the
processing speed of CPU is :

1) Erasable Read Only Memory
2) Random Access Memory

3) Read Only Memory

4) Cache Memory

Find the octal equivalent of 952 :

1) 1670g 2) 1671g
3) 1607g 4) 1660g
Tuples in Python are :

1) mutable 2) immutable

3) modifiable 4) convertible

A set of style rules that describes a
document's display characteristics is :
1) WebPage 2) Style Sheet

3) Table 4) List

Find the decimal equivalent of octal
number 127.54; :
1) 178.6815
3) 87.6875),

2) 48.6875),
4) 67.6875),

............... is the program in execution.
1) Process

2) Thread

3) Operating system

4) Application software



104.

105.

106.

107.

108.

109.

HTML tags @l ........ % Sfex forar
ST Bl

) O 2) [1

3) {} 4) <>

........... TS | P A B

1) s gHe

2) TEIHA FHe

3) ufeE dfforha gfe

4) AU gfe

Tq e 8 g9 & g gsx |
A B G TN B T o
HN TN foam ST 2

1) Checksum 2) Fault

3) Error 4) Padding

OCH § Zeie @ ST ..eeee....
ER RS

1) AR #

2) el g=qna |

3) HYEHI |

4) TIDHIA H

T Fa4 e IwE Ak 9d 9
STl HRIRE B & [T fohar S
&, HEA §

1) SQL query

2) Join query

3) Selection query

4) Crosstab query

saeq H DI H TGN
fSIST URilhee & SAfsided &l 9q
4 5q¢ w3 & e fean T 2

oooooooooo

1) SQLquery 2) Join object
3) OLE object 4) Hyperlink

[ Level-3/1321]

104.

105.

106.

1017.

108.

109.

[23/A]

HTML tags must be written within

2) [1

4) <>

All the calculations and decision
making operations are performed
in which unit ?

1) Control Unit

2) Algorithm Unit

3) Arithmetic Logical Unit

4) Memory Unit

............. is used to detect the errors in
the header to avoid misdelivery.

1) Checksum 2) Fault
3) Error 4) Padding

Initially internet was used for ......... .

1) Medicine

2) Military intelligence
3) Communication

4) Education

The query that is used to summarize
the data from various tables is called
as:

1) SQL query

2) Join query

3) Selection query

4) Crosstab query

In database ........... type of field is
used to insert various objects mode
in other Windows applications into
table.

1) SQLquery 2) Join object

3) OLE object 4) Hyperlink

P.T.O.



[24/A]

110.

111.

112.

113.

114.

115.

116.

MVC & % & 8 :
1) AU agard ol
2) Hisw F e}
3) AT & HeX
4) Hfed & PrEiid

dd Wl e
TP & &Y H Bl
1) ®©F 2)
3) fvigs e 4) T®

qifeieesd QNN SN,
T TSI & T B
1) SffEAa 2) TE
3) g 4) A

........... AR TolesE H @l
;13%34 I AT HTT Bl AT &l
[

1) FSHBT AR

2) JAKSCHART HIEX

3) WEE AReX

4) Hied AR

..........

............. TH gET offeige ' A
AR W AT & & §=i W

yoqH & &9 7 gfd i ol
1) R 2) ome
3) dqEE® 4) T

g Sl Uikl § @ardd e
ST 8, O Rl 3G @ @eW & fag
R BN @ SUANT fhe ST B 7

1) HLOOKUP 2) VLOOKUP
3) RLOOKUP 4) CLOOKUP

[ Level-3/1321]

110.

111.

112.

113.

114.

115.

116.

Full form of MVC is :
1) Memory Virtual Controller
2) Model View Container

3) Maximum View Container
4) Model View Controller

TOLL Plaza simulation 1is an
application of .............

1) Stack 2) Queue

3) LinkedList 4) Graph

Logistic regression can Dbe
bionomial, ........... or multinomial.

1) ordinal 2) numbered
3) unimial 4) binary

.............. allows you to alter all the
slides in the presentation.

1) Handout master
2) Outline master
3) Slide master

4) Notes master

In python elements of the list are
written inside :

1) [1
3) O

............ is a drawing object which is

2) {}

4) <>

usually printed as the background
of text on all the pages of document.
1) Clip 2) Art

3) Watermark 4) Header

If data is organized in rows, which
function is used to search a value ?

1) HLOOKUP 2) VLOOKUP
3) RLOOKUP 4) CLOOKUP



1117.

118.

119.

120.

121.

ASCIH §d %¥ & :

1) RS  Agase  #E R
THHAT ST

2) FmET  EgEsE #s %R
TR FaTS

3) SThHT WSS HS B FHHIM
ECCE |

4) FARFT WSS HIE BT THAIA
geTd

...............

Bl fRE gEr ;@
A @ @ 2@ B GRng w@
fqeafta A 3 &l

1) I 2) A9S I§d

3) X @ 4) M@ ¥ @
HHS H I Gk
e B R A @ SR ol
% fog R s R

1) File-Save as

2) File-Print as

3) View-Save

..........

4) View-Save as

el TiiRer & Ao EaeT e ®
1) 2) RERR
3) WM 4) TEIHS

ofth S getie W A ol gge H
@@ $ MU FGE & F FEEind
& gFar B O R ff ww uwliee
% STERAl B QU HCA 8

1) 9 gaes ik
2) ITAMeH Sfthdh
3) G ARe® S
4) wEHE
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1117.

118.

119.

120.

121.

[25/A]

Full form of ASCII is :

1) American Simulation Code for
Information Interchange

2) African Simulation Code for
Information Interchange

3) African Standard Code for
Information Interchange

4) American Standard Code for
Information Interchange

.............. allows you to synthesize
and analyze data from list or
existing table.

1) Table 2) Merged table
3) Header table 4) Pivot table

command is used to

duplicate the active document
under different names ?

1) File-Save as

2) File-Print as

3) View-Save

4) View-Save as

Pictorial representation of an
algorithm is called as :
2) Picture

4) Pseudocode

1) Image
3) Flowchart

The traffic which can adjust over
wide ranges, to changes in delay and
throughput across an intermet and
stil meets the needs of an
application, is called as :

1) Non Elastic traffic

2) Elastic traffic

3) Semi Elastic traffic

4) Hybrid traffic

P.T.O.



[26/A]

122.

123.

124.

125.

126.

1217.

34 I W T fh FYX | B
%ﬂm'am=ﬁ'ﬁﬁ@m'@m'éaﬂ'$67%

~

fsm & 9T & ?

FOCH H I8 GUS STEE SN
%aéa %TFRHW‘%'aﬁH % foq o
%SHQCHI'I o< B9 B g A S
1) =T Hied

2) RasFiw dfsd

3) T Hfsd

4) Y Hisd

TF B o TO% N B TE
fafare yga™ 3T &, FEAw R

1) Unique key 2) First key

3) Primary key 4) Candidate key
TS T TR T=ifd ® ¢

[ Level-3/1321]

123.

124.

125.

126.

121.

.......... is one of the gateway of internet.
1) Intranet

2) Internet protocol

3) Internet service provider

4) Web

The study of how to make computers
do things which, at the moment,
people do better :

1) Machine Learning

2) Artificial Intelligence

3) Cloud Computing

4) Natural Language Processing

It is a variant of generate and test
in which feedback from test
procedure is used to help the
generator decide which direction
to move in search space ?

1) Hill climbing

2) Best first search

3) Constraint satisfaction

4) Problem reduction

A collection of concepts that can be
used to describe the structure of
database and provides the necessary
means to achieve this abstraction :

1) Data Model

2) Relationship Model

3) Query Model

4) Form Model

A field that gives each record a
unique identity is called as :

1) Unique key 2) First key

3) Primary key 4) Candidate key
Project size is related with :

1) Technical feasibility

2) Economical feasibility

3) Organizational feasibility

4) Testing feasibility



128.

129.

130.

131.

132.

133.

R B oeveennnnns ol I8 qF Bl
¢ 5 Rmew sEaw, difeam iR
Tedd TREFER b GeH 7 B9 M

HAM

1) T 2) fesieq

3) T  4) WIT

gie g ofEael & R grew #
OPCODE X ........... i B
1) Operators 2) Operand

3) Variable

FY H I HAT SN TH IO U PR
T § H ¥ T B ©, Pean © ¢
1) U TEA

2) T WSS A

3) gge

4) FgE <EH

Tofe W T T a1 B ...
&l T 2l

1) FEH e

2) TNISS dAre

3) Refieged =é

4) X 4

TH T SAYE URE B 9T S gEed
# FEbA @@ & iR FgR
e AR owar @ 9erm R, R

4) Function

1) feed didea®
2) UTQhIN HiFeaay
3) foeew Ty
4) e gEam

e ¥ Dictionary Key Value S
Y ST AT ST B

1) : &N 2) #3N

3) &N 4) $3
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128.

129.

130.

131.

132.

133.

[27/A]

The ....ccceeet phase of the system
decides how the system will operate
in terms of hardware, software and
network infrastructure.

1) Analysis 2) Design

3) Implementation 4) Planning
Instruction format of machine level
language consists of OPCODE
and ........... .

1) Operators 2) Operand

3) Variable 4) Function

Amount of work that a system is
able to do per unit time is called as :
1) Response Time

2) Turn around Time

3) Throughput

4) Input Time

Chart created on worksheet is
calledas..........ee.. .

1) Column chart

2) Embedded chart

3) Resolution chart
4) Bar chart

Set of one or more programs which

controls the operation and/or
extends the processing capability
of a computer system is :

1) System Software

2) Application Software

3) System Application

4) System Hardware

In Python dictionary key value pairs
are separated by :
) : 2) #
3) ! 4) $
P.T.O.
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134.

135.

136.

131.

138.

139.

3T fugy go Rwie Wl &
TAH oo, &l JTAT HA Bl

1) primary 2) secondary
3) self 4) selfie

frffed & & @9-91 HTML $1©
Fee H dlce HA H JERIT BT & 7
1) <b> This text is big <b>

2) <b> This text is big </b>

3) <b> This text is big <\b>

4) <b/> This text is big <\b>
.............. fore @ &8 gaT wWEA
S - e Had, S9N §hd Al
R | foer o | 2

1) o€ foe 2) o-lted fome
3) afdwd fae  4) Efeiea feree
TRd & & ¢

1) deenEe

2) a9 iR

3) 99 sTEd|

4) 39 AR

TS EhHT AT AR NI B
el [eFT HrOwerT ThiAT I SaeT
.......... FET 2

1) feEimra Sar sfeu=
2) Wed ST IFeue

3) RN T Seted
4) ifopa 31 3eu=

SQL Y&EGEl & .ovvvnnnnnn. s UE
A © N I W § IR Sl
Tl

1) Table 2) View

3) Base Table 4) Form
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134.

135.

136.

131.

138.

139.

In Python instance methods use
........... as first default parameter.
1) primary
3) self

2) secondary
4) selfie

Which of the following HTML codes
display the content in bold face ?

1) <b> This text is big <b>

2) <b> This text is big </b>

3) <b> This text is big <\b>

4) <b/> This text is big <\b>

............... lists can be preceded by one
of the several bullet style — a closed
circle, an open circle or a square.

1) Orderedlist 2) Unordered list
3) Verticallist 4) Horizontal list

Goliveisa....ceeune .

1) Website

2) Web Publishing Tool
3) Web Database

4) Web Browser

The capacity to change the conceptual
schema without having to change the
external additional
programsis called as ............... .

schemas or

1) Physical Data Independence
2) Lateral Data Independence
3) Posterior Data Independence

4) Logical Data Independence

In SQL terminology a ........ceeeees is a
single table that is derived from other
tables.

1) Table 2) View

3) Base Table 4) Form



140.

141.

142.

143.

144.

145.

Frefofed & @ HF-a1 FSs ddr
i el & ¢

1) Infrastructure - as - a - service
2) Platform - as - a - service

3) Software - as - a - service

4) System - as - a - service

7€ TH TORIT TEE B GERT H B
INUSTH H B T B ATHIRACS
IRuTed § e o Gl B

Frefefed & | Si9-a1 & g9 oM
7T e ?

) T . OTE
3) TEGIC THW  4) AlBHY
el & ® % YA T
TR % WS- fqaRor B Hel
ST &

1) TENReA

2) «H

3) T TH W ME ME HS
4) FHS

T Higge UEEH HiE WEA & .pyc
PIEd # Rakid S @

1) py_source

2) py_run

3) py_interpreter

4) py_compile

TH MM S STEEE oA HiS @
7 Hie # SIS BT &, FHearw
-

1) el
3) FTTWX

2) FHEAT
4) FIAFA
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140.

141.

142.

143.

144.

145.

[29/A]

Which of the following is not a cloud
service model ?

1) Infrastructure - as - a - service
2) Platform - as - a - service

3) Software - as - a - service

4) System - as - a - service

It refers to mathematical procedure that
needs to ftransform a number of
possibly correlated variables into small
number of uncorrelated variables :

1) Natural language analysis

2) Principle component analysis
3) Hidden Markov Model

4) Support Vector Machine

Which of the following is not a search
engine ?

1) Yahoo 2) Google
3) Internet explorer 4) Lycos

Step by step description of how to
arrive at a solution to a given
problem is known as :

1) Algorithm

2) Plan

3) ASCII Code

4) UNICODE

This module converts the python
source file into .pyc file :

1) py_source

2) py_run

3) py_interpreter

4) py_compile

A program which is responsible to
translate assembly language code into
equivalent machine code, is called as :
1) Translator 2) Compiler

3) Interpreter 4) Assembler

P.T.O.
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146.

141.

148.

149.

150.

DRAM & T ¥ & :
1) SEAE (o9 T A

2) TEVAS YeH THE AR
3) SEMYS YHH Y HEN
4) femic {9 ™ A9

A9 & QAR H B O BT ...
N FH ST HA &

1) picture 2) pic

3) img 4)
UAEl H Th ThHiPd G S FYX
AR oM SHERMEAl B TH A
EhY UG HYAl B TEE W
HAT AW BT & -

image

1) SfRiET fen

2) FHUBAT

3) &% Qg9 qvae T

4) ITWUX

O & qlfed B | Th Bl T @@
el &

1) Fsd 2) T

3) fhwex 4) T =

9e Hitedax fTHH T e} e §
N SEE P P AAH P H uRafd
HAT & el gFEd MU W A g,
S e AR

1) UEYE fqwhd Asi
2) YA agord A
3) UHYS e FH
4) e fawpd AEN

146.

141.

148.

149.

150.

Full form of DRAM is :

1) Dynamic Random  Access
Memory

2) Download Random Access
Memory

3) Dynamic Ransom = Access
Memory

4) Different Random  Access
Memory

To insert images we use .......... tag.

1) picture 2) pic

3) img 4) image

An integrated set of programs that
controls the resources of computer
system and provides its users an
interface that is easy to use :

1) Operating system

2) Compiler

3) High level language program
4) Interpreter

A small dark square in the right
hand corner of the cell is called as :
1) Handle 2) Filler

3) Filter 4) Fill Handle

The  software
interpreter that converts the byte

containing an

code into machine code where the
python program runs is called as :

1) Python Viscuss Machine

2) Python Virtual Machine

3) Python Virtual Memory

4) Python Viscuss Memory
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6.

s B JN, I G=h ¥ fraig =t # & 9| qrEe WA 6. Answers to questions in answer sheet are to be given by

T’Sﬁ?ﬂ A %, S 7 e R R darkening complete circle using Black ball point pen as shown
O @@ ® @ below :

&Y B A T W T A ST, IR S A @ # O @ ® ®

T TR § 9@ ¥ The answer will be treated wrong, if it is marked, as given below :
g @ & @ g ® @

R TH Y T GE B A AT T A YR I AT A If you fill more than one circle it will be treated as a wrong

ST answer.

10.

11.

12.

13.

14.

15.

16.

11.

18.

19.

20.

% B Fl??—gﬁﬂ?ﬂ 7 39 e & fom & T@ TRl FE W & HU / Rough work should be done only in the space provided in the

Question Booklet for the same.

T IR F9@ OMR I T T & Sk B AT IR SAMGESH Sk H I q&a of 90 o1 (Fhe W) & TanT Mg 21/

The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not
allowed for changing answers.

TR% e & fow Ru e R fReed § & o fae 3 T OMR ST W% W 399 T 99 & & [0 T FM a6 @Re W W
Th d I T B B 9B IY To Tef o Gl 21 / Out of the four alternatives for each question, only one circle for the most
appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is
not allowed to be changed.

et gifda R 5 30 S T B AeT 7 I Ud 39 W FE I M T ) ot ot i St W § feEiRa e
% oifafted o= 9 fo’dl / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the
Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.

I-RTH T I T B ANEE T H, Fie el 9 oRRefy § [eT-gRae 08 St T & i 5 e @ R &
@E’Fb_{] Q{Tﬁ a9+ gﬂ?ﬁﬂ T U L] Eb'@'lg vnmfn / Handle the Question Booklet and Answer Sheet with care, as under no
circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not
be provided.]

QQ:T—W/W o § Ru U wHie @ ot @t alie @ xR e § € / The candidates should write the correct Number as
given in the Question Booklet/Answer Sheet in the Signature Chart.

areelt @ qle A /A HaY W o) UEEM U & SiiRed R SR @ ureg-arh, a1 ST FIST N ufE, T, AeEd
'#Ff, Wﬁ?ﬁ JUHT AT FhE ST TR & G B S A7 SUIRT B ﬂfﬁﬁ &t | / Candidates are not allowed to carry any
textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit
Card and Identity Card inside the examination hall/room.

TR B U8 S WX TA% ARt oo 5ae HE A o] 8 YN UH @M / Each candidate must show on demand his/her
Admit Card [Roll No.] and identity card to the Invigilator.

&% ordfes @1 wdwe @ 9w aqgwi%r & fomm ﬁ'% et ST WM T @gl / No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.

PRI e H AU SR T RU AT O eEm A W AR sWRR B A ol wfen & e 818 AR fed et A
A R SRR A W EWRR Te Y q a8 qA SO % I IO T AE dern & X Fe o | H A qE S
OMR T T% 7 FHiRg @M R ¥t 7wl art a1 e & ofS &1 MM @ oI 81 oS & Femey I & &6 919 &
& @l WY @ 98 A & & &g oy oniq W@l # AEn 7 9gd 3 & q 7 & §gd B / The candidates should not
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart
twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

s@a@“rﬁm/mﬁa UReheih 1 SUANT At 81 / Use of Electronic/Manual Calculator is prohibited.

T B A SEREl % _fw, orell R & & T sien/Rer-FRw @ 98 & i et @ B @ R am w0 ol aee &
ol A # e 9 3 Fem o e @ FER 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

el e & QQ:T—W AN TR TF H Ebllg AT ST T & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

TOE T BN W, ol e /AT Bie ¥ Jd IR U he-TdaEd A ofasd A 31 oned o | 39 Us-gRaE @ & o we
g /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.
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